
70.1
15.7
23.6

1061090117A

1061090118A

1061090181A

Issue 3 -05/08/2023







8*30mm Wooden Dowel x 48

5*40mm Screw x 18

 Adjustable Feet x 2

 7*39mm Cam Bolt x 26

4*14mm Screw x 12

3.5*14mm Screw x 16

Hinge x 4 Wall Fixing Pack x 2

Shelf Support Pin x 8

K

Door Bumper x 2







1

C

C x 12

C

C
C

C

C

C
C

C

C

C

C

C

2 3

4

5

C x 4

Insert wooden dowel (C) into part (2, 3, 4, 5)

1

C

C x 12

C

C
C

C

C

C
C

C

C

C

C

C

2 3

4

5

C x 4

Insert wooden dowel (C) into part (2, 3, 4, 5)



E

E x 4

1

2

3
E

E

E

E

E

E

E

E

E

E x 4

1

4

5

3

Please note that the cam lock holes on 
panel (2) and (3) need to face each other.

Attach panel (2, 3) to bottom panel (1) using screw (E) with a screwdriver.

Attach panel (4, 5) to bottom panel (1) using screw (E) with a screwdriver.



8

A x 4

C x 12

7

B

B

B

B

7

1

4

5

Step 5

Step 6

2

Insert wooden dowel (C) into part (6, 7).
Attach cam bolt (A) to part (6, 7) with a screwdriver.

Attach side panels (6, 7) to bottom panel (1), then 
insert and secure cam lock (B) to bottom panel (1) to lock it. 8

A x 4

C x 12

7

B

B

B

B

7

1

4

5

Step 5

Step 6

2

Insert wooden dowel (C) into part (6, 7).
Attach cam bolt (A) to part (6, 7) with a screwdriver.

Attach side panels (6, 7) to bottom panel (1), then 
insert and secure cam lock (B) to bottom panel (1) to lock it.



8

8

A x 12

9

Step 7

Step 8

9

Slide the back panels (8) into grooves as per diagram.

Attach cam bolt (A) to part (9) with a screwdriver.

8

8

A x 12

9

Step 7

Step 8

9

Slide the back panels (8) into grooves as per diagram.

Attach cam bolt (A) to part (9) with a screwdriver.



Step 9

B

B
B

B

B
B

B

B
B

B

B
B

9

9

6

7

1

B x 12

10

Attach top panel (9) to panels (2, 3, 4, 5, 6, 7), then insert 
and secure cam lock (B) to panels (2, 3, 4, 5, 6, 7) to lock them.

Step 9

B

B
B

B

B
B

B

B
B

B

B
B

9

9

6

7

1

B x 12

10

Attach top panel (9) to panels (2, 3, 4, 5, 6, 7), then insert 
and secure cam lock (B) to panels (2, 3, 4, 5, 6, 7) to lock them.



J

J x 8

D

D x 16

K

K x 4

J

J

J

J

J

J

J

J

D
D

D

D
K D

D
D

D
K

D
D

D

D
K D

D
D

D
K

10

12

12

11

Step 10

Step 11

11

J

Attach plastic wedge (J) to back panels (8) using screws with a screwdriver.

Use screws (D) to secure hinges (K) to doors (12), and then secure 
hings (K) to part (10, 11) with a screwdriver.

J

J x 8

D

D x 16

K

K x 4

J

J

J

J

J

J

J

J

D
D

D

D
K D

D
D

D
K

D
D

D

D
K D

D
D

D
K

10

12

12

11

Step 10

Step 11

11

J

Attach plastic wedge (J) to back panels (8) using screws with a screwdriver.

Use screws (D) to secure hinges (K) to doors (12), and then secure 
hings (K) to part (10, 11) with a screwdriver.



A x 10

10

11

Step 12

Step 13 C

C x 12

C

C
C

C

C
C

C
C

C

C

C
C

12

Attach cam bolt (A) to part (10, 11) with a screwdriver.

Insert wooden dowel (C) into part (1, 9).

1

9

Bottom up

A x 10

10

11

Step 12

Step 13 C

C x 12

C

C
C

C

C
C

C
C

C

C

12

Attach cam bolt (A) to part (10, 11) with a screwdriver.

Insert wooden dowel (C) into part (1, 9).

1

9

Bottom up



B

B

B

B

10

1

6

11

1
7

B

B

B

B

Step 14

Step 15

13

Attach part (10) to part (1, 6, 9), then insert and secure 
cam lock (B) to part (1, 6, 9) to lock them.

Attach part (11) to part (1, 7, 9), then insert and secure 
cam lock (B) to part (1, 7, 9) to lock them.



B x 2

C x 8

F x 2

B

B

B

C
C

C
C

11

10

13

x2

13

13

1

Step 16

F

F

F

14

Insert wooden dowel (C) into parts (13).
Attach parts (13) to parts (10, 11), then insert and secure 
cam lock (B) to parts (13) to lock them.

B x 2

C x 8

F x 2

B

B

B

C
C

C
C

11

10

13

x2

13

13

1

Step 16

F

F

F

14

Insert wooden dowel (C) into parts (13).
Attach parts (13) to parts (10, 11), then insert and secure 
cam lock (B) to parts (13) to lock them.



E

E x 10

E

E

E

E

E

E
E

E

E

E

6

13

13

14

151

15

Attach part (14) to partsl (1, 6, 9, 13) using screw (E) with a screwdriver.
Then attach part (15) to partsl (1, 7, 9, 13) using screw (E) with a screwdriver.

E

E x 10

E

E

E

E

E

E
E

E

E

E

6

13

13

14

151

15

Attach part (14) to partsl (1, 6, 9, 13) using screw (E) with a screwdriver.
Then attach part (15) to partsl (1, 7, 9, 13) using screw (E) with a screwdriver.



G x 2

G

H x 8

H

G

HH
H

H

Step 18

16

Attach adjustable leg (G) to bottom panel (1) using screw (H) with a screwdriver.

1

G x 2

G

H x 8

H

G

HH
H

H

Step 18

16

Attach adjustable leg (G) to bottom panel (1) using screw (H) with a screwdriver.

1



I x 8

I

I

I
I I

I

I

I
I

16

16

1

long

short

Step 19

Step 20

17

Attach long and short LED lights to bottom panel (1), then get the LED lights 
through the hole on the bottom panel.
Note: you can find buckles and screws in the box of the fireplace.

Insert shelf support pin (I) into part (4, 5, 6, 7).
Place part (16) on the top of support pins.

I x 8

I

I

I
I I

I

I

I
I

16

16

1

long

short

Step 19

Step 20

17

Attach long and short LED lights to bottom panel (1), then get the LED lights 
through the hole on the bottom panel.
Note: you can find buckles and screws in the box of the fireplace.

Insert shelf support pin (I) into part (4, 5, 6, 7).
Place part (16) on the top of support pins.



G

1

Step 21

18

G

1

Step 21

18



Step 22

Step 23

19

Step 22

Step 23

19

Before attaching fireplace to TV stand, unscrew four silver 
screws on the both sides of fireplace, and unscrew two screws on the front.

Carefully remove the front glass, and place it on a soft and clean surface.

Before attaching fireplace to TV stand, unscrew four silver screws on
the both sides of fireplace.

Note: Fireplace is in the BOX of Fireplace, not in the box of TV stand.

Carefully remove the front glass, and place it on a soft and clean surface.



H x 4

H

H

H
H

H

3

Step 24

20
Assemble the fireplace insert to the stand and secure it with screw (H).

H x 4

H

H

H
H

H

3

Step 24

20
Insert the fireplace to the stand and secure it with screw (H).



Step 25

21
Put crystal in the fireplace, then attach the glass front to the fireplace.



3

5

Step 27

22

Connect the LED lights with the power cables.

3

5

Step 27

22

Connect the LED lights with the power cables.



L

L

L

L x 2

L

L

Step 28

23

L

L

L

L x 2

L

L

Step 28

23




